
P�r��klady na 3. t�ydenLimity funk
�� I1. Doka�zte z de�ni
e, �zea) limx!1 �x2�3 = 18 b) limx!1+[x℄ = 1 
) limx!1�[x℄ = 0Spo�
t�ete2. (a) limx!0 x2 � 12x2 � x� 1 (b) limx!1 x2 � 12x2 � x� 13. limx!2 � 1x2 � 2x � xx2 � 4�4. limx!0 (1 + x)(1 + 2x) : : : (1 + nx)� 1x5. limx!1 x100 � 2x+ 1x50 � 2x + 16. limx!0 (1 +mx)n � (1 + nx)mx27. limx!1 xn+1 � (n+ 1)x + n(x� 1)28. limx!1 x+ x2 + : : : xn � nx� 19. limx!1 � m1� xm � n1� xn�10. limx!0 2x2 + 1q 3x4 � 6x2 + 511. limx!0+ (q 1x2 + 1�q 1x2 � 1)x12. limx!0+ �vuuut1x +vuut1x +s1x �vuuut1x �vuut1x +s1x �13. (a) limx!16 4px� 2px� 4 (b) limx!0 px + 1� 1x



14. limx!0 p1� 2x� x2 � (1� x)x15. limx!0 3p27 + x� 3p27� xx+ 2 3px416. limx!0 mp1 + x� np1 + xx17. limx!0 p1 + x� 3p1� x3p1 + x�p1� x18. limx!a+ px�pa+px� apx2 � a2 , a � 019. limx!0 mp1 + ax np1 + bx� 1x limx!0 sinxx = 120. limx!a tgx� tg ax� a , a 2 R21. limx!0 p1� 
os x21� 
os x22. limx!0 tgx� sinxx323. limx!0 1� 
os x 
os 2x 
os 3x1� 
os x24. limx!� sinnxsinmx , n, m 2 N25. limx!1 sin�x1� x26. limx!�4 (tg 2x)tg ��4 � x�27. limx!0 sin(a+ 2x)� 2 sin(a+ x) + sin ax2 , a 2 R28. limx!0 
otg (a+ 2x)� 2
otg (a + x) + 
otg ax2 , sin a 6= 0


